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 ��� �	 ����� ��� ���� �� �����

������ �����
��� �� � ����������� ����� .��/4#,0� 2����
 ��� 
������
���� �� ����� ��������

��� ��������� �� �
����� ��� ������������� ��� ���� ����� �� ��� ������ �� ������ ����� �	���

�����
 ������� �� �����
 ����� �� ������ 	������ ����������������

1�� ��� 	�������� �����������
 ���� 	���� �� ��� �
�������� �	 12$ (α,γ)16% ��� ����� 
���

����
���� �� ���� �������� ��
���� ��� 
��� �������� ��	��
����� 	��
 .��/4#,0 ���� ���

�������
���� ��� 
������
���� �� ��� 5����

6



16O

J Ex [keV]

0+ 0

0+ 6049

3- 6130

2+ 6917
1- 7117

12C +  

2- 8872

1- 9585

2+ 9845

4+ 10356

0- 10957

7162

16

12 (α,γ)16

12 (α,γ)16

12 (α,γ)16

�

12 (α,γ)16 16

12 (α,γ)16

12 (α,γ)16 22

26 44 60



� �������	�
��

�� �������	
��

�

�����
��� ��� �
��� 
����� �������	
� 
� ����� �� 
 �
��� �� �������
 �� ��� ������ ������

��	
� ���� �� ��
��
 ���� ��� �����������
������  �
��� !���" ��� ����#� ��� #�
	��
����
�

����
��� �� �

�
��
 ��� ��� ��
� �� ��� ��� �� ���������" ��
� ���� 
��	� ��� �������	
 �$�

�������� �������
 
���	�
" ��
� 
 �� ����
 ������
���� �� ��� 3α ������� 
�
 12% (α,γ)16& ��

���� �'( � �
���" ������� 
  
���	� ��
� ����  
�� �� �) �� *+,� �$���
�� �� 
 �������	


�� ��� �� ��
���� �� �	�� *,��

-�  
���	� ��
��  ��� �� ��� 14. �� ��� %.&������ ���� �� ���	����
 �� 22.� 
����# ����� 

������#" ����� �� 
 ������� ���
���� ��� ��� ��������� �� ��� ��
����� 22.� (α,n)25,# �/��011��

-� ��� �
�� ��
#�� �� ����� ������# 12% (α,γ)16& �� ��� ��� 
	
��
��� 4!� ������ ��� ���� ��
��

����" ����� �
� 
� � �
�� �� ��� �� ��� �� ���
���
 �������� 
�
 ��������� �� ��� ���������"

��
� �����������  
�� �����
�� �� �� 2092� �-��'1��

3�� ��
����� �
� 
� � �
�� �� ��
��#�� ������# 	�
 ��� %.& ����� 
� ����� 3��� ����� ��

���  
�� ����#� ������ 
����# ��
��#�� ������# �� ��
�� ����  
���� 
��	� 1.5,�� 3��

4��� #����
���� �� ��
�� ����
 
� 4��� ��� �����5� ���� �����" ���
��� ���� �
���
 ��� ������
��

�
����" �$�#�� 
�
 �����#��" ����� ���� ��� ���
���
 
����# ��� 2�# 2
�#� &��� 
����

����� ��� ���� ���� ��������5�
 �� ��� 4��� ��
� #����
����� �� ��� ������ 
���
 ������� 
�

12% (α,γ)16&" ��
��#�� ������# ����
 ������
 	�
 ��� %.& ����� �� ��� ��
� #����
�����"

��� �
 ��� ����� 
��� �-��'1��

����� ������ 	
 ���	� 
������
����

��
����# �� �)++ 4��� ������ ���� ��
���
��� ��  �
���� ��� 12% (α,γ)16& ��
����� �� ��� �
��

��
����� ���
� 
�
 �
� 
 ���++� ���

�
��
 
 �
���� �
�#�� ���� �
���
� �������� 
���

����

���� ����� � 3�� �
�
����� 13% (α,n)16& ��
�����" ��
� �
� 
 ��	��
� ��
��� ��  
#����
�

��#��� ����� �������" ���
���
 ����� ������ �� ���
���# 
 ��#� �
��#����
 �� ����� 
���������

3�������� ���� ����
 ���� 
�
��� 
� ����� �� �� ��� ��� ��
������

3�� 4��� ��#�
� �� ��� 12% (α,γ)16& ��
����� �
�  �
����
 �� 2��� �� ��� �23�+6� �� ����

��
����# ��� 13% (α,n)16& �
��#����
 
� α ����#��� �� 
����
 7,�8" ����� ���� ��	����#
��


��� 9.59,�8 ��
��� 9
��� �� �
�#��� 
������
 �� 13% ���� ���
 ��  �
���� 
 ��
�� ����#�

�
�#� 
�
 �
���� ����
��� �� ��� �
�#�� �
�  ��� �5�
� 9
���� 
�
 ���
� �9�:�� ������
�


�� ��	����# 
 ����� ��
 ����#� ��� 2.8 �� 8.3,�8" #�	��# 
�#��
� 
������������ �� ���

��
����� 
� ��#��� ����#����

3�� 1− �����
��� 
� 9.59,�8 �
� 4��� ������������ ��	����#
��
 �� ;
�5�5
� �� ��� �;<,6'��

3��� ���
 ��#��� 13%�
������
 12% �
�#��� 
�
 
 ������
 ����� ��
 �� ���
�
�� ��� �������

�	���� �� ��� �� �����=�#��  ����
� 3��� �������
 �� ��� 4��� �$���
���� ���	� ��� ��� ����

����#� 1− �����
���� ����
 ����#��� �� 1.86 �� 3.20,�8 ���� ���
 
�
 �$���
�
 �� 4.2,�8

�� 
 �
��� ���� �;,6'��

>��� 
�
 2
���� �>26�� ���� ��������
 4��� 
����
�� ����� �������� �� ��� #����
 ��
�� ��
��

:



� �������	�
��

������� ����	 ��
� �
 ��� �� ��
����
�����	� ��	 �

��	� ��� ��	 �	��� �� ��	 1− ��� 2+ ����	�

��	� ����
� ��������	� ��	�� �	�	���� �� ���� �� ����
	 ��� ��	 �
 ������������� ���� �	��

���	�	�� ��� ��	 ���� �� �� 	������	 ����
�� ������������� �� ��	 �	������ �� 
�� 	�	���	� ��

�	

� ��	� �����	�� ���� ��	 ���

 �� ����� ��	� ���
� ���	� 	� ��� ��	 �� ��	 ���	�� ������	

�	�������� ���	 	�� �� ��� 
��	� ������ ���� ���� ��	�� ���� ��	 2+ ������	���
� ����	 ��

Ex = 6.92!	" #$	�%&�'�

���� ��� ��

��	� �� �	� ���� �� ��	 �����	�	��� ����	 �� ��	 �	������� ���	
� ��� 	 ��	

������ �	�������� 	�	��� �� 12.13!	" #!()*+ $!",
+ -��%,.+ !()/+ !$()&'� ��� �����

1− �	������	� �� 12.45 ��� 13.09!	" �������	 ���� 	�	��� �	���� ��� ���
� ��0�	��	 ������

�������
 ����� �	������ �� ���	��	�	��	 	1	����

2��	� � ��� �� �	��
� � �	���	� ���� �	����	�	��� �� �� 	��	 3��	������ �� �	
��� ��� ����	��

�	�	 �	�����	�� $	���	� �� ��� #$	�%&�' ��	� � ��������	����� ������ �	�� �� /� �2 ���� �

������
	�� 	4�	��	� ��� ����	�� 5��� ����� ��	� ���
� �	��� ���� �� � �	���	�������� 	�	���

�� 1.34!	" ��� ����
��	� ���� ��	 �� ���������� ����� ��0�	��	 ��	 ����� �	����� �� ����

�� ��	 �
 ��� 
�� 	�	���	�� 6����	����	 �� 	4�������� ��� 	 �� ��	 ������	 �� ��	 6.92!	"

����	 ��� ��	�	��	�� ���� ����	 ���� 7�8 �	�	����� ��	 	�	��� �	��
����� ��� ��� ��9��	���

��	� ���
� ��� ����������� ��	 ������� �� ���� ����	 ���� ����	 �� ��	 7.12!	" ����	�

6���� 	4�	���	��� ���� 
����������	� �	������� �	�	����� �	�	 ���	���3	� �� :	��	� �� ���

#:	�%&,' �� ������� 3��	������� 13; �� ��	 ����	�� ��� � ���	� �� ���
������ 12; ���� �

��
� �
��	� ���� ����	 	� �� 	������	� 13; �	�
	���� �� ��� ���	�� �� ��������	� 7�� ��	

���� ����
 γ 
��	� ���
� �	 �
	��
� �����������	� ��� ��	 ����
�� ������������ �� ��	 �	���	�

������� 	�	��� ����	 ���� ECMS = 1.7 − 2.84!	" ��� �	����	�� 2��������

� ��	 
��	��

�	����	� 	�	��� ���
� �	 ����	� �� ECMS = 0.94!	"� <��	 	�� ��	 �	����	� ����� �	�����
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 �	�	����� �� ;�
�	�� ��� ��

���		�	�� ���� ��	 =�	� ��� -���	� ����� ��	� ��	� ��	��� ����� �� �	�	����	 ��	 �
 ��

�� ����� �� ��	 ����� �	������

2� 	4�	���	�� �� (�	

	� �� ��� #(�	%��+ (�	%�)' ��� ���	���3	� �� ��
	 ��� ��	 �����	�����

�� 
�� 	�	��� ���� � ����
�� �	��� �� ��	 ��	 �� :	��	� �� ��� #:	�%&,'� ��	 �	��
���� �����

�	����� ���� ���	 	�� ����� �	��		� ��	 ��� ����� �	����	�	���� ��� �	��
 ��� ��	 �����	������

:��	�� �� ��� #:��%��' �������	� �����	� 	4�	���	�� �� �� 	��	 3��	������ �� � ��� ����	��

��	� ��	� -������ �	������� �4��	 >-?(@ �	�	����� ��� ���
� �� 	������	 ���
	����	����	�

����� �	������ ��� ��	 �
 ������	�� �� ���� ?��
��	

� �� ��� #?��%�
' ��

��	� ���� �� ����

� ����
�� 	4�	���	���

2 �	���
	� �	����	�	�� �� ��	 ����
�� ������������ �� ��	 �	������ �� �� �� ���	 ���
	� ����

<A?	 �	�	����� ��� ���	 �� $��B �� ��� #$��%�
+ $����'� ���� ��� ��

��	� �� �� 	4�

�	���	��� ���� ��	 �C:(?2! ��� ?27=8 ������ #6	��*+ <��%�/�+ <��%�/�+ 2��%�)'�

��	�	 ���� �	�	 ��
� ����
� �		���	 �	�	� ��� ��	 ����	����� ���	�������	� ��� �� 	 �		�
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 	$�� ��������( �� �1*� ��" �&�
�� 5��& �&��� #��$��! �&� ����'
���" 	$�� ��������( ��

�$**
����" �( � %� ��
 �% �� �� �� �� +�����6����
  �	*�
�" �� �&� �$
%� � ����	−2�−1 �7
������

�&� �������� �� $� �
�������� �� �&� 	$�� ��������( 
��'� %
�	 �8 %�
 �	��� 9����& ��'��� ��

≤ 12% �� �&� ����
	�"���� �
�� �� ≈ 20% %�
 θ = 85� ��" $* �� ��8 %�
 ���'�� ���� ��"�(

 �#�
�" �( �&� 	���$
�	����! "$� �� �&� ��, 	$�� ��������(�

/*�
� %
�	 �&��� "�2�
�� �� �&� 	$�� ��������( �� &�	�'����$� ��" %���� �2 ,��& � cosn θ)

"���
��$����! ,&� & ��  ��������� ,��& �&� :�� *���� �#�
 �&� �$������ �&� �1*����� n �% �&��

%$� ���� �� "�*��"��� �� �&� �&���"��' �% �&� 	���$
�	��� *����� �&�
�%�
� n = 1.84 ± 0.07

%�
 *������� �! ,&� & �� ���'&��( ��,�
 �&�� � 	���$
�	��� �� � &�
�9����� �$���� $�"�
 ;���

<��� �� �&� -������ ��"� �� � ��	���
 "�*�& �% ���	�,��� �	��
�� ,���
 �3$�#������! ,&�
�

n = 2 �=��>�
�� �&� 	���$
�	��� �� ?0�&�
 @����? (���"� n = 2.12± 0.07� <��& .��  �� ��

���� �� .'� ������

�&� 3$����( �% �&� �&���"��' �% �� $�"�
'
�$�" ����
���
( �� �%��� �1*
����" �� ��
	� �% �&�

#�
�� �� "�*�& �% ��� <�
��$�� *
�#�"�� �� �	*�
� �� .� "�� 
����' �&� #�
�� �� 	$�� ��������(
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cos θ

Surface
(108.78±0.01) (cos θ)2.12±0.07 m-2 s-1 sr-1

Felsenkeller, position 3
(1.67±0.02) (cos θ)1.84±0.07 m-2 s-1 sr-1

������ ��	�	
 ��� �
 ��� ���
��� ����������� �� ������ ������ ��� ��� ����������� ��������
���� �� �������� � �� cosn θ� ���� ����� ���������� � ��� ���� ��� �� θ�  �� ϕ
��������� �� ���!�� �� "�� ��	�� �# � ���� ���# $����  �� ����%����$ ����� ���� ���
������& �� ���� '() �
 ��� ���� ����!� ��� ������ ��� ���� ��*���� �# ��� ����

�� � 
������� �
 ��� ����� 
��� ��� ��� �
 ��� ����������� +� ��� �� ���� �� "�� ��	�, ���

������������ ���
����� ����& ���� �� ��$���!�$$�� ��� -+.�& /�����& ����� *��# ��$$ ����

���� ���������%������

����� ����	
���
 ��
	�������	� �� ��	 
��� ���	�����

����� ��� ���� ��$������ ��*�� �� ������ ��0������� 
�� ��� ����*����$ ��������& �� �� ��������

�$� �� ����������� ������� ����� ������ 
��� ���*� ��� ��$��� ����*��& �������� ����� ���

�$$ ������� �# ��������� ��� ��� ��������# �
 ����� ���������������� ����� ��� �� ��������

�� ���� ����������� �1��������� ��� ������� �� 10−8�−2�−1��−1 23����4& ����� �� ���$����$�


�� ��� ���� ��������� �������������

5����� ������������ �������� ��*���$ ��#�& ��� �6�����# �
 ��� �������� 7��� "�� ����,8& ���

�*��� ���� ��� ��� ���� ���� �������� ����$� 7��� "�� ��	�'8�  ����
���& ��0������� �� ���

���� ��������# ������� ��# ��� ����� ��� �� ��$�� ����

�����������& �
 ����� ��� ��� ����� ������� ������� ��� �������� �� ��� ���� ��9�������� ����

������ �
 ��� ��& ��$# ��� ��� ���� ��� ������ $����� "� ��$$ �� ��������  ��� �������� ��

��$�� ����) �
 ��� ����� �� ��� ���$$�������������� $��������# ��$���!�$$���

+� ��������� �� ���� ��� ��� ��$������ ��� �� �������$� �$�� ������ �$������� ���*� �� ���

�:
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���
 ������ ��
 0.15� ��� ��� �	�#������ .�� 
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������� ����	
 ��� ����

�� ������� �� � �� �� ���� ��� ������� ����� �� ���������

��� ���  ������  �� ���! "���������� ��� #$%�&	 ���� ��� ���'����� �� %�&�� ������� �� ��

���������� ����������� �� � ��� �����������!

$�� ����  ��������(����� ��� ��� ��� ���� $��� �� ��� )$��*
�+� ���� ���� � ����,��

-������  ��������(����� )-��	
+! .���� ��� ������ �� ���� �������� ���� ��� ��� �����/

������ ������������ ��� ���� �  ���� ��� Eμ > 100-�01cos θ� ��� ����,������� �� $���

������ � '������� ��� Eμ > 1-�01cos θ� ����� �� ��2����� ��� ��� �'�������� �� "�����3������

��� θ < 85�!

����������	 
��� ��� 
�	����	�
�� 
������	

$�� ����� �� ����� �� ���3 ��� �� �  ��������� �� ��� -������ �����/������ �������� )-��	
+4

E =
(a
b

)
[exp(bRμ)− 1], 5
!6!�7

���� a = 0.217-�0�!�!�!−1� b = 4.5 · 10−4�!�!�!−1 ��� Rμ ��� ���� ����� �� �!�!�! 8����

�� ���� �9������ ��� ���/�: ������ ��� �� ���������� ��� � ��'�� ����� �� ��� ���� ��������� ���

�������� ����� ��'� �� ���'�� ������� ��� ���3! #'��� ���� ���� ����� ������ �� ��  ���� ��

�� �������� �� ��� ���3 ��� ���������  �������� ��� ���������! $�� ����� �� �� ��� ����������

��� � ����� �� �
 �(������� ��� �
 (����� ���� �� ����� ��� �������� ������ ��� ������� ����!

$�� ���� �������� ���� ��� �����������  ������� �� ��� ������� ��� �� ��� ������ ����� ���

���������� �� ,����� ��� ����  ����� �� ��� ������� ��� ��� ������� ���� ��� ������ ������  ����

��� ��� ���� ��'����� �� ��� ������ �� ������� �� ��� ���! "����������� �� ��� ��3�� ����

�������� ���� � ���� �����  ��� ���� ���� ��� ������ �� ����������� ��� ����� ���'�� ��������

�� ��� ��� �� ��� ������� ���� ��� �������� �� ��� �������! $�� ����� �������� ���'����� �������

���3 ����� ���� �� ��� ������� ρ = 2.69 �1��3 ������� �� ��� ����� �� �� �� �!�!�! ;���� ���

����� �� �� ��� ��� �����/������ ��������� ��� ��� ��������� ��� ����  ��������(����� �� ���

������� �� $��� �� ��� �������� �� ��� ���/�: ������� ����� ������� �� ��� ���� ��������� ��

��� �������  �������! $�� �:����'� ������ ��������� ��� ����� �� ��� ������� � ������ �� �
<�0

��� ��� ��������� ��� ���� �����������! .��� ���� ��� ���� ��������� ��� ���������� ��� ���

�&

 ����! =��������� ��� ��������� ��� �������� �� ��� ������� ���� ��� ��� ������������!

$�� ������ �� ����  �������� �� ����� �� ��� ����� �  ��  ���� �� ,�! 
!6!>!

��	�� ��
�� ���������	

=� �� ���� ������ �  ����� ��� ���� ���� �� ������� ��� ������� ��� ���� �� <���� ?����

����������� �� ������ 5'������ �
!67 ���� ���  ������ ���� @���������
!� #<A@! $��� �� �

���������  ������ ���� �� ������ ���������� ��������������� ��� ��������  ������! B� �� ����

������ ��� ���������� ����/������ �� ����������� �  ���������!

�




� ���� ���	
����� 
������
���� �� �������������
����� ������������

�� � ���� ����	
� ��� ����� 
�
�� �����
� 
�����
 ��� ��� ������������ ����������� ��� ���
 ��

��	����� ���� ����	�� ���� � 10	×10	 ���� ��
 ��� ����� 
�
�� �� ������� ��� 	������� ��

��� ���� ����	� �� ����	�
 �� �� 	��������� ��� ��	
������� �� ����� �� 
�������
 �� ����  !�

��� 	������ 	���� ��
��������� ��� 	��� 
���	���������� ���� ������
 �� ��� ��
 �� ���� ��

����� ����	�� ��
 
��
�����
 ������� ��� �� ��� ��
 ��� ��������� 	���� ���� ������
� "�

	����
����� ��� 	��� ��������� �� ��� ������� ����� �� ��� 
���	���������� ���� ��� ��������

�� ��������� 	����� ��� 	��� ��������� ��
�������
 ��� ��� �� ��� ���� �� 
�����
� ��� ������

�� ����� �� ��� ����� ���� 
���� �� ��� #�$�%�

&������ ���� 	����
 ����
 ��� �����
� 	����� ���� 
��� ������� ��� ����� ��� ��� ��������


���� ������� ��� �� ��� 
���� ��������	� '���� ��� ����������� �� ��� ����� 
�
�� ������ �� ��

�

��(�	������ �� ������ ��� 	��� 
������� �� ��� ��������� ������� 
��� 
����� ��� � ������

���� )�
������� ��� ����
� ������� �� ��� �������� ��� �(�	
�� �� ��� �����	 �� ��
 �� ���

���* �� �� ��� ������ ������ ���� ��� ���
 �� 
���������� �� ���� ��� �	
��� �� ����� �����	����

������������� �� ��� 
���� ��	������� ��
 ���� �� �(
���� ��� �	
��� �� �����
��� 
�������� ����

���������� ��� ���� ������� �����
��� ��� ������� ��� 	�
����
 �� �������

��� +,- 
��� ��� 
����
�
 �� � 
���� ����
� �� �	
��� ���� 
��� ���� ������ ���� 
����

����
 ��� 	����
 ��
 ��������
 �� ��� ,+-. ���	��� /����� �� ���� �� 011	×011	 �����


��� 
�����
 
������� ��� ����� ���	 ��� +,- 
���� ���� 
��� 
����� 
��������� ��� �����	

�� ��� ���� ��  #1	 ���� �

�
� �� ��
�� �� ������� ��� 
���� ����
 �� ��� ������� �� ��

������ ����	�� ����� ���� ���� �	
����
 �� -���.��� 	����
 ��
 �(
����
 �� �� 2�. ����

����� ��� ��������
 �� ,+-.� /�� ��� ������� � ��	���� �

����� ��� ��
������� ���� ���


�*������� ���� ��� 
���� ����
 ��� ��	
��
 ���������
 �� ��
��� ����������� ��	� �� ���

	����

���� ��� ���	���� �� 
����� 	���� ��
��������� ��� 	��� 
���	���������� �� ���� �� ���

���� ������
 �� � 
�	� ����� /����������� ��	��� �� ��� 
�����
 
�������� ����� � ������
����

���� � 
��	���� ��  	 �� ������� �� 
�������� �� ��� ����������� ��	� ������ ��� ��	�������

������
 �� ���� ������ ������ �� ��� ��	��� �� ������
 	���� �� ���� θ ��������� � cos θ�


������������ ���� � ����� �� 8.36 	������ 	���� 
��
�����
 ������� ��� ����� �� ��� ������


���� ��� ������ 
����������� �� ��� 	���� ��� ��
�������
 ��� ��� 
���������� �����	����� ��

������� ������ ��
 
������� ���� ����� ��� ����� ������
 	��� ��
 ����� 
������� �������� ���


�������� ��� ������ ��	����
  %3111 	����� ��� ��	��� �� 	���� �������� ��� 
�������


���
�
 �� ��� ������
 	���� ��� � ������
��
��� ��� ��
 	����
���
 �� ��� 	��� ��������� ��

��� �������� ���� ����
� ��� ����� ����� 
���� �� ��� #�$�%�

'�� 	����
� ����� ���� ��� 	������	���� ��� ����� ��� ������ 
��������� ������� �� ����� 4��

��� ���� ��� 	�(�	�	 �� ������������� 
�������� �� 	��� 
��������
 �� ��� �� ��� 	����
��

'��� ��� ��� ������� θ = 85� ���� ��	�������� ��������	��� ��� 	��� ���������� ����� ���

������������ ����������� ��
������	���� ��� �� ������ ��	
��� ��� 	����
� 5������������� ���

0 



� ���� ���	
����� 
������
���� �� �������������
����� ������������

������ ��	�
� �
������
� 
� ��� ��
� ����������� 
� ��� ����������� ������ ����� ���� �
������������ ���������
� ������ ������� � �
��������
 ��������
� ��
��������
��� ��
�� ���
��� �
�� �
����� 
� � ���������  ���� ��
��� ����� �� � �
����
����
 ��������
� ���� ������������
� 
� ��� ������� �� ������ ���
�� ��
���
������ �� �
����
� !� "�� ����
 � ����� #��� ���� ���� ��� ������������ $
��
�#��� �� ��� ����� ��� ��%���� �� �
����������� �� �������� �
�� ��
�
���� 
�� �
� ��� ������������ ���������
� ��� ��
� ��������� ����� 
& ������ �
� ���� θ
������� '�� ��%� �
� � �
��  ������ �
������
��

!�



� ���� ���	
����� 
������
���� �� �������������
����� ������������

��������� ri �	 
���� �
 σ ���� �������
�� 
�� ���� ��	 �� 
�������

ri =
Ii − I���√
ΔI2i +ΔI2

���

, �������

��
� 
�� ���	 �	
�	��
� �
 
�� ���������	
 I���� 
�� ���	 �	
�	��
� �
 
�� ��
��� Ii �	� 
����

��������	��	� �	���
��	
���� ��
� 
��
 
�� �	���
��	
��� 
�� 
�� ������
��	 ��� �	�� �
�
��
�����

����� 
�� 
�� ��	����	���� �������
��	 
�� ���	 ������ �
 �	���
��	
� �� 
�� ���	
 ���
��

��� ��
���� ���� � ���� �������	
 ��
� 
�� ��������	
� ����� 
��  ��
 ��!���
� �
 ���	
� ���

��
��	 
�� 3σ �	���
��	
� ��	��� "��� ��� �� ���� ��
����� ����
 
�� ��� ��
����� 
��
 �� ��
�

�� ���� �� 16σ� #���� ��� ��	
����
�� �� ��	� ��
� 
�� ������
 θ� ����� �
�
��
��� ��� ���

�	� 
�� �������
��	 �
 
�� ���	
 ���
� ����� ���	�� ������� �
 
�� ����� ���� �
 
�����	� 
��
 ��

�	������ �	 �	� ��	� #�� 
�����	 ��
�� ���� 
�� 
�� �������
��	�� ��� 
� �� ����
��� #����
����

���� �
���
���� ��� 	�
 �	������� 
��
 ����
 �	$��	�� 
�� ���	 �	
�	��
� �� ����� ���� 
�� ����

�	 ���
�����
��	 �����
��	� %��
�������� 
�� ���	 �	
�	��
� �
 ��� �� �� �� #�	� �� ���� �����

��� �
���&�� �	 ��� ��
����� �� ��
�� 
�� θ > 85� �� �� 
� �'(� %�� 
���� �����	�� 
���� ��	�

���� ���

�� 
��� 
�� 
������	� �	�������

%��� ����) ����� 
�� ��������� �
 
�� ��*���	
 ��
���� �	� 
�� ���������	
� #�� σ ������
��

�
 
�� �������� ���
����
��	 ������ ��� ���� 
�� ��
��� ��
���� 
�� ���������	
� #��

���
 �������	
 ��� ������� �� 
�� ��	����	���� �������
��	� ����� �	������ 
�� ���
���
��

�	���
��	
��� �
 
�� ���	
 ���
�� #�� ���+ �����	 ������
��	 
�	�� 
� �	�����
���
� 
��

���	 �	
�	��
��� �	� ��
����� ��� ������ � �	�� �	 ��
� �����
��	�� #��� �����
� �	 
�� ������


����������	
 ��
���	 ���+ �����	 ��
��� �	� 
�� ���������	
� ����� σ = 3.43� %�� 
��

,-./ ������
��	� 
�� ���	 �	
�	��
� ��� �����
�� ����� 
��	 �	 
�� ��������	
 �� ����� ��


���� 
�� �������	
 �� ��

�� ��
� σ = 1.65� #����
��� �
 �� 
�� ����	� ���
 �������
��	 �
 
��

���������	
� #� ��

�� �	����
�	�� ��� 
�� �� ��
��	� �	 
�� ������
��	� ���� 
� ����� �

���
���
�� �	������ ����� �� 	��������� 
�� ������� �� ���	��	� 
�� ��	��
� �
 
�� ���+�

#��� ������
�� 
��
 
�� ������� ��
��� 
�� �������
�	� 
�� ���	
 ���
� � ����
���
�� 
�� 
���+�

	��� �
 
�� ���+� 0� �������
�	� 
�� ���� 1��	
�
� ��
� 
�� ������
�  ���� �
 
�� 	�����
��


��� �1� ������ �	� ��
��	� 
�� ���	 �� ��
��	 
��� 
�� ���������	
� "���� 
�� ��	����	����

�������
��	 ���
���� ���
 ��
� �  ���� �
 1.24 σ� ����� 
�� ,-./ ������
��	 �� �� 1.65 σ �	�


�� ���+ �����	 ������
��	 2.76 σ� %�� 
�� ��

��� 
�� �	���
��	
� �
 
�� ���+ 
���+	��� ���

	�
 
�+�	 �	
� �����	
� ����� ����
 ���� 
� 
��� ������ �� ��
��	� "�����
 �� ��
��	� �
 ��


� 16 σ ���� 
��	� ��
��	 
�� ��	� 
�� θ = 85� 
�� ��� ��
����� %�� 
�� ������
��	� 
���� ��	�

�� � 
�� �����
 �
�
��
��� �	� �� 	�
 
�+� �	
� �����	
 
�� �	���
��	
� �
 
�� ���+ ��	��
��

%�� 
�� ���+ �����	 ������
��	 
��� 
��
�� �� ���������� �� ���� ������� 
�� � $�
 ����	� 
��

���������
��	 
�� 
�� ���	 ���+ 
���+	��� ���� 	�
 ���
��� ���� 
�� ���� θ� "���� 
�� ���	


���
�  ����� 
�� ���� 
�� ��*���	
 �	���� 
� �� ���� ��������� �� 
�� ���	� 
��
 ��� ���� �	


�� �	������� %��
������� �
 ����� �� 
�� ����� 
��
 
�� �������
��	 �
 
�� ���	 �	
�	��
� ��

22



� ���� ���	
����� 
������
���� �� �������������
����� ������������

Range-Energy
Entries  127

Mean    0.111±0.1413 − 

Std Dev    0.07849±  1.251 

Skewness  0.2174±0.7232 − 

Kurtosis  0.4347±   1.59 

]σr [
20− 15− 10− 5− 0 5 10 15 20

E
nt

rie
s

0

2

4

6

8

10

12

14

16
Range-Energy

Entries  127

Mean    0.111±0.1413 − 

Std Dev    0.07849±  1.251 

Skewness  0.2174±0.7232 − 

Kurtosis  0.4347±   1.59 

Columns
Entries  127

Mean   0.3046±0.8626 − 

Std Dev    0.2154±  3.432 

Skewness  0.2174±0.3298 − 

Kurtosis  0.4347±  3.811 

]σr [
20− 15− 10− 5− 0 5 10 15 20

E
nt

rie
s

0

2

4

6

8

10

12

14

16
Columns

Entries  127

Mean   0.3046±0.8626 − 

Std Dev    0.2154±  3.432 

Skewness  0.2174±0.3298 − 

Kurtosis  0.4347±  3.811 

GDML
Entries  127

Mean    0.146±0.3896 − 

Std Dev    0.1033±  1.646 

Skewness  0.2174± 0.3905 

Kurtosis  0.4347± 0.2065 

]σr [
20− 15− 10− 5− 0 5 10 15 20

E
nt

rie
s

0

2

4

6

8

10

12

14

16
GDML

Entries  127

Mean    0.146±0.3896 − 

Std Dev    0.1033±  1.646 

Skewness  0.2174± 0.3905 

Kurtosis  0.4347± 0.2065 

������ ��	�
� ��
�����
 �� ��� ����� �������� ������
 ���� ��� ������������ ���� ��� ��� ���

��� ��� ���
 ���� ��� �����
� θ� ��� ����� ������
� ��� ������������  �� �������
!����"� ��� �� #  ����� 
��������� !������" ��� ��� $%&' 
��������� !�����"
����� ���� ��� ����������� (������
 ��� ������  ���������� �� ���
 ���� ���� θ�
)�� ���� ��� � ���� �������� ��
 �

����

�� #��� ��� ������ ����*����� ����
�

+��
 ���
 ��� ��� � ��� ���������� �����
����
 ���� JColumn = (4.88 ± 0.02)�−2
−1 ��� ���

�� #  �����
� JGDML = (4.88 ± 0.15)�−2
−1 ��� ��� $%&' 
��������� ��� Jrange−energy =

(4.9+0.5
−0.3)�

−2
−1 ��� ��� ������������  �� �������
� ��� � ��� ����� ,��� ���� ���� ��� �������

������ ��
��� �� Jexp = (4.9± 0.4)�−2
−1�

-� �������� �� ��� ����
� ����������� �� 
� ������ ����� ��
� 
� � �
 ��������
� ��� ����
�

�������
 ��� ����� ���������� ��
� ���� 
�,�� �
 ����� (�� �� ���
�� ��������
 ��� �������


�� ���  ��������� �� ��� ���� ��� 
������ ������� �������
 ���� �� ��������� ���� �� ���

�� #������ �� ./$� ���� ���
 ������������ 0������������� 
����
�� 
 ��� ��� �������
� ����

���� 1222 ��� ���� ��� ���� ���� ��� ��� ��� ��������� � 
��
��������� ������ ������ �� �������

����
 ����� �� �� �

��� �� ���� � ��� ��������� �� ������� ������ 
�� ����� �������������

��� 
��������� ��� ��� �� ���� ��� ������ �� ���  �� ���� ���#�� �� ��� ��� ����������� ����

���� �
 ������� ����� ���� ��� ����������� -� ���� ����� ��� 
���������  ���� �� ��������

�� �����
� �������
� ����,�� ���
 �
 ���
��� ��� 
 ��� �� ���
 ���
�
 ��� ��
 ������� ���� ���

��� ���
��#����� ���������� �� &�� �� $������ !.3%�" ���� �'04� 5$��6�27�

-� �� ��#� � ���# �� ��� ��� ����
 ��� ��
�����
� ����� ���� 8
229 ��

��� ������� ��� ���� ����

��� ���
� ��� ����
� ���� ��� ��� ��� ����
 ��� ���� ���������� ������� ��� �������� �����


�� ��� ����
 ��� �� � ��� 
���������� &�
� �� ��� 
������ ��� ����
 ��� 
 ������� �� �����

��� ������� ��� ����
 ��� ��� ���� ��� ��  ������ �
 � ���� ��� #� -� ���  ����
 ���� ���

��� ����
� ����� ��� ����� �����
 �� ��� ��
�  ������ ����� �� �2� ��� ϕ ��� 82� ��� θ� :�2

�� ��� 8
222 ������ !
�� ;�� ��	�:"� -� �
 ������ ���� ���
 �
 � ������  ��
��,���,� �
��������


�� � ��� ����� ��
 ���� ���������� �������� ���� �� ��� ����
 ��� ��� ��������� ������ ��� ����

��� ����
� ������ �� �������� ��

����� +�� < 0.5% ��������� �� �������� �
 �� ����� �� ���


�
������ ����� �������

1	



� ���� ���	
����� 
������
���� �� �������������
����� ������������

E [MeV]
3−10 2−10 1−10 1 10 210 310 410 510 610

E
nt

rie
s

1

10

210

310
First Chamber

Last Chamber

������ ��	�
� �
���� �������� �� ��� �������
� ������ ������� �
� ����� ����� �����
� �������
��� ��������� �
 ������������������ ������ �
�� �������
� ���� ��!�� ���� ���

�"� ��� ϕ �
� #"� ��� θ $��� ���
��� ��� ��� �������

����� �����	
��	� 
�		������

%�� �������� ����������
 �� ��� ������
 �
����� ��� �������
����
 �� ��� �
&��
�� �� �������

����� &��������
� �
 ��� ���
 �
��
���� �� $���� '� ��
���
�� �
 ���� ��#�# ��� �����������

�� ��� ���������� ������� ��� ���
 �
��
���� �
�������
�� %�� �!��� ��
 �� (��
��)�� ��

��� �������� �� ��� ���� ���*� ��� ���������� �
� ��� ����������� �
 ��!���
� ������ �� ���

���������� �� �
�$
�

'�� ����������
� �
 ���� ���������
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����� ��� ���������� �� ��� ����� �� �� �
 ���������� ���� $��� �
 �!����*� ��������

���� Teff  ���� �� ���������� �� ���������
� ��� ����������� �
 ��!���
� ������ �� ��� ����������

$��� � $����� ��
����
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�� �
 ��� ���
 �
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� αT �� �����$��

ΔI�
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�

= αT
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T 0
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��� ���	������ ���� ��	���	�� �� 
����� �	�	��	�� �� ��	 �	��� �� ��	 ����������� �����

��� �	 �	�����	� �� ��	 ��	���	� ���	����� 	�	��� 〈Eth cos θ〉� ���� �������� ��� ��������	�

��� �	��	��	��	� �� ����� ��	 ����	�	�	��� �������� �� �	�����	� �� ����	��  �!� � ��	 	�	���

���	����� ��� � ���	� ����	 ��� ��	� 
�������	� ���� cos θ ��� �	����	� �� ��	 
��� ���	�����

�� ��	 ����	�������� ���� ����� �	����� �� 〈Eth cos θ〉 = (25.5 ± 1.0)"	#� $� �� ���	�� ����

��	 ��	���	� ���	����� 	�	��� �� �	������	 �� ��	 ����	 �� ��	 ��	�����	�� ��� ���� �� ��	

�	������ �	���� % ������	����� �	��	��	��	� ���� � ��
��	�	�� &�� ��	�����	� ����� ���	

〈Eth cos θ〉 = 28.8"	#� '��� ���� �����
����� ��	 �	
�	�����	 ��	���	�� αT ��� �	 ��������	�

��	��	������� (%��)*+,� �����	�� �� ���	������� �������� ��� �	����
	� �� ���� ���	�� �����

����	�� ���� ���	�������	� �� ��	 ����� ����
	�	�� ���������	 ���� -.� ����	 ��	 
��� 	����

����	� �� ����	� �� ��	 ���	������� �� ��	 
	�� 	�	��� ���	������ ������ ���� ���� �������

��	��� αT = 0.265 ± 0.014 ��� ��	 �	��	��	��	� ����������� ��	 
	�� �	
�	�����	 �� ��	

���	� ��
����	�	 �� �	��	��	��	� ���������� ��	 �	�� �� 223.5�� ��	 �����	� ������ ��	
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���
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��� ���������� ���
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�	�����	 ��	�
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	�	� ��	���	�� β ≈ 0.02%/
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����� 	
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���

���	����� ������� ��	� ���� �	����� �� ��
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� �� 
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�
��� ������ ����� !����� "���� ��� ������������ ��� ������ #�� ��$����
!�������� �� %& ���� ��� ���� �������� ����������� �� ��'��(�

��� �����	�
���� 
� ��� ���� ������

#�� )*+* ����� �� ����������� ���������� �� ,�����- "���� �� ���! ��� � ������� �� �������.

�����- ��� �$����� ���������������� �� ��������� ���������- ��".����� ��!������������ �������� ��!

������! �������� �� ��� /��!� �� ������������� ��������� ��! ������ ���!���� )� ���� �������� ���

��!�������! ���������� 0*1+- ���� �� ������! �� �� ��!�������! ��� ��� � 2���� ��� ��������

!���� �� ��������! �� �� 45.33��"���- �����!��� ��� !���� �� ��� ����������- 3405�	6- ���

������ �� �����!��� �������� �� ����� !��������� �� ���! �� !��������- ������� �� ��� ���7��

�������� �� ,������ 8�� ���� �� ��� ���� ������! �� ��� ���� �� � �������� ����� ��������

���� ��� �����."��� �� �����.����- ��� ����� �� ���� ������� ���� �� �����.������� !�������� "���

� ������ �� ∼ 30� 9��� /�� �����:� )� �!!����� �� ���� ���� ����!���� �� ,����� ���� �$�������

������� ��! ��� ���������� ������ �� ���������! ��.���"��� ��� �������� ��! �$�� !����"��� ��

��� ��� ��� � #�������� � ���������� ����! ��������- �� !��� �� ������� ��	��- �� ��� ��������

��� 0*1+� ;�- �� �$���������� �������� "�� !����! ��������� �� ����������� ��� ��� �����!

���������� �� ���� ��!�������! �����������

*� �� �� �������� �� ������� � ������ ������� ���������� �� ���� ���������� ������" ��!�������!

����������- ��� ����������� ���� ��� ����������� "�� �$���!�! �� �� ����� ��� !�� ��� ���

����<����� ��! 	�� ������������ ��! �"� ��! � ���� !��� ��� ��� �������� ������������ #��

��������� ������ "�� ���������! �� ��� �� ��� ������ �����!��� �� ��� =4>� !�������� �� ���

���������� 9��� /�� ����
:�

#�� ������ �� ��� ������������ �� ���"� �� /�� ����'- ���� ���� ��� ������ �� ���� �� ϕ !��������

'?
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��������� �� ���
�
����
�� ��� �
 ���  ������ 
 ��������� !
��" ���� ��� �
�
��
����� �� ��������� �� � #���
� 
# $ �
�%���� �
 ��� ������&����� �������������

�� �
����� �
�%���� �
 ��� ������������ �� ������&������ '����&����" ��� ��
� ��������� ��

(���� ���
�
����
��) ���  ������� ��
� ��������� �� ���� (15.825± 0.008)�−2�−1��−1 ��������

�
��� ���� ��� ��
 ��*��� �� θ = 15� ���� (17.5 ± 0.5)�−2�−1��−1 �
 ��� ���� ��� (16.8 ±
0.5)�−2�−1��−1 �
 ��� ����" ���� ��� ������ �� ��� �
������ �
 ��� ��� %��&� ��������
��" ��

��  ������" ���� #�
� ϕ = 35� �
 +�	� ��� �� ������� �������
�" ����� %����� ����� ���
 ��� ���

��� �����#
�� ���� ��������� �� %������ �
 ��� ��
��" ��� ��
� ��������� �� ��������� �
 ���

�
���" ��� �,��� 
# ��� �
������ ����� ��  ������" ����� ��� ���� �
 ��� �
�������� ��� �� ����

�� ��� ������ -����� ������� ��� �
��� ������ ����� �� �������� �� ��� �������� ��
 � ��� ���

%��&� ��� ���������� ��������� �� J = (32.3± 0.4)�−2�−1�

����� ����	��
��
 �� 
�� �������� 
�������� �
����

�
� ������&����� ��� � ������ ������
�� ������ 〈Eth cos θ〉 �
��� �� ���������� #�
� ��� ����


# ��� ����
������ �
�&� ���� �� �
� %
������ #
� ����� .
�� ��" ��� ��
� ��������� ���

�������� ��� ���� ���� ��� ������
�� ������ #
� � �� �� ����� ��� �� ���������� �� ��� �
���

�
��� 
# ��� �������� 
 �� ��� ��
� �%������ �� ���� ���� ��� � ������� �� ��� ���� #����

��
� 
# /
�#��� ����������� 01��2 #
� ��� ����� � ������� ��� ��������� ������ ������
��� ��

��������� �� ������� ��3�
 ������ 〈Eth cos θ〉 = (6.46± 0.18)4��" ����� �� � #���
� 
# 3.6 �
���
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 ��� ���� ��������� ���� ��� ������ �� ��� ��������� ������ ����� ���

	� ���������� m = 38 ��� 76 ���
 ����� ����� 	� ���	��������� �� ����� ���� 12�3�
−

2 �� ���

���� �� ��� ������


 �������� ������� �	���!�� � �������������� ������� �� ��� ��������� �� ��� ���������� ���	��

������ ����� ��� ����� ���� �� ��� ���	�� �� ���	�� ����� ��� ���� ������� ���� �!��

���	���� ���� " ��##$
 ���� �� ���� ��� ��� ��������� ������� 	�� ��� ��� ��� ������ ����

�� �� ����� �� ��	�� �
�
�
 %�� ��� ��������� ������ ��� ������� ������� ��� ��� ����� 	�

 �������� �� ����� �−11� ����� �� �������� 	�
133��− ��� ��������� ��&��� �� ��� ����
 %��

������ ��� ��������� �� ��������& ���� ��� ���	�� �� ���	�� ����� �� ��� �������� ����� ���

����� ����� ��� ���&�� 	� ��������
 ���� ����� 	� ������ 	� ��� ��'����� ������� !����&�

���� ��� ���� ������ ������


(� ����� �� ���� ��� ����� ���� �� ���� �� ��� ������ ��� �������� �	�������� ���� ���������

�!�������
 ��� ����� �� ��� ��� ����� ���� ���� )� ��� �� ��� ��� ���� ���� )
 ��� ������

������ ��� ����� �� 13� �� 12� ��� ��� ��� ���������� ���	�� ����� I(12n + 1)/I(12n) =

nN(13C)/N(12C)
 ���� ����� �� ��������� �� ��	�� �
�
*
 %�� ��� ��������� ������ �� n = 1, 2

��� * ��� ���������� ������� ��� �����������
 +���� n = 6 ��� , ��� ��&��� ���� ��� ��������

!������ ����� ����� 	� ������� ��� ���� ��� ���� ���� �� ��� ���� ���������& 13�
 -� n = 3

��� ����� �� ������ ������& �� ��� ���������� ���� ��� ���� 12� ���� ��&�� ������� ������� ���


%�� ������� n = 1 �� ���� ���&���� ��&���� ����� ��� ��� ������ ��� ��&��������� ��&��� ��������

�� ��� �������� ������


��� ���� �� �����	�� ��� ��� ������ ��������� ����� ��� 65�� �� 63�� ����� �� ��� ����������� ��

	��� 0.45 ��� ��� ����.������ ����� ��� ��� ���2 ���������
 ���� ��������� ������� ���

����� �� ��� �������� �	�������� N(65Cu)/N(63Cu) = 0.45 "(-/
0$


�*
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����	

����� �� ��� ��� ��� ����� ��� �� ��� �������
����� +� x)����
���� ��� ���� �������� ��������
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σx = 1.0��,
x0 = 1.2��
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σy = 1.0��,
y0 = −5.0��
	����
σy = 1.3��,
y0 = 0.0��
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�
� ��� x) 5����6 ��� y)����
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���	 ��� x)����
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E = ESputter + (1 + q) e · VTerm, /�����0
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� ������ ���� �� ������ 
� �
������ ��� I �
� ���	 ��������
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�	����
����� !�� 2.450�1 9+ �� ������ �� -"� 92+ � �	� 	�� 93+ 	�� 94+ ����� �� <"

	�� &" ���
�������� 	� !������������

�� ��� � ��������
 ��	�� (��� #�� $�%�'* �� �� �������� ��	� ��� 3+ ��	��� ��	�� �	� 	 
�	� 	��

�������� �� ����� 	�� ������ ��������� ��� �	
� �	� �� �	�� ��� ��� 2+ 	�� 4+� ����� ��� 
�	��

	�� ,��� ������� ��� 
�	����� ������ �	���� 9�	��� ��	�� 1+ �����	��� 	 ��
��	� ���	�����

���� 	 
�	� 	� ���� ����� �������� ��	� ��� 2+ ���� ���� ����� 	����� ���� 
�	����
����

	�� �	����	����� �� =���� �� ��� 4=��62>7� ����� ��� 
�	�� ��� ��� ��	��� ��	��� 	�� ������� ��

����� ��������� ���	��� 	���� �	� ���� 	� 	 ����

��� �	� �����	� �� ���������

���� ���	����� �� �	���� �� ��� �������� �����	���� ����� ������� ��� �	
������ 	� ��������

���� �����	���� ��	
 ������� ����� ��� ��	��� �� ������ 	� �������� �����	��� ������	��� (���

#�� $�%�2*� ���������� ������ ��	��� ��	��� ���� ��� 
��� 	�� 
��� 
�
��	��� �� ��� ���� �� ���

����� ��	��� ��	���� �

���	����� �� ���� �� ������ ��
���
��� ���� �� ��������� �� ������� $�%�<�
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	����������
 1.68± 0.06 �����2

�
�+

�2+

�3+

�4+

�5+

������ ��	�
� �
���� ��������� ��� �������� ���� �������� �� �� ����������� ����� ��� ����
���� �� 0.52 �����2 ��� ������������� ����� ����� ��� ������ ������������ ����� ��
� !��������� ���������� ����� �������� ��� �
���� ������������� �� ����� �� ���

"���#$%& ��� ����� �� � ����!!��� ����

����� ����	
�		���

���� �
��� ������������ ��� �
� ������ �� ���� �
�� ���� �
� ����������� ��'�� �� ��() �
�

������������ �
����
 �
� ����������� �� ��� ��� �� ����������� *
�� �� �� ����������� !��!����

�� �
���) �� �
� ����� ��� !���������� �� �
� ���� �� �
� ��+������� ���� �� �
� ����������� ��

��,����� ��� ������������ �
����
 �
� ������������ -�����������) �� �� !������� �� ��'��������)

�� ��� +
��� !���� �� �
� ���� ��� ����� ��� �
� !������ � !�������� �
� �������� �� �
� ����

����
��� ��� +��
 � ��'�� ������ �� �� �������� ��� +��� �� � ������ ����+�

*
� ����� ������������ ���� ��( �� ����� �� �
� ����������� �� ��� ��
��� �
� 
��
�������

������ �� �
�+� �� .�� ��	�/� *
� �'����� ������������ �� ���� ��� �
� (
(� ��0 ����) +
���

123 ��� ����
��� ��� �
� ��+ ������ ����� �
� �'����� ������������ ������ ���� 	23 �� 
23)

+
��� �� �� ���+��� /
3 �� %%3 ��� �
� �+� 
��
��� ���� ��������� ��� ��+ ����!!�� !��������

������������ �� ��+) ������� �� ������ �� �
� ����������� ��� �� ��� �������� ��� ���� �����

�� �
� ������� �
���� �����) +
��� ��� 
��
 ����) ���� �� ����) ������� �
� ���� ��������� ��

��������� �� �
� 
��
�� ������ �� ���������� !�������� ������ �
� ����!!�� �������

��� �
� �!!�� �������) �
�� �
� ���� �
���� �� �
� ���� �� ��	 ��� ���) �
�� ��� �� �!���

�! ���� �+� !����� �
� ������������ �
����
 �
� ����������� ��� �
� 45 ��������� 4�+�'��)

����� �
� ������������ �� �������� �
���� ������ �� 
��
�� ��!������ �� �
� ������!���) �
��

�����!���� ���
� ��� 
��� ��� ��� ������������ �
����
 �
� 45 ��������� 6� ��	 ���� �
�

77
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������ ��	�
� ��
��������� ���� ��� �� ���� ����� 
�� �������� �� ����� ��� ����

��� �� 
�� ��
��� ��
��� �
� �� ��
������ �� ��
� ��� ��
� ��
��� 
� ���� �������� 
�� ����

���� ��� �
������ �������� �� ��� ���
�� ���� �������� �
� ���� �� ���������� �� ���� �����

�
��� �� ��� �� ����� ��
��� ��
��� ����� 
���
�� �� ����� !��� ��� 
��������� ��
� ������ 
��

���� ��
"��� ��� ��� ������ ��
��� ��
���� ��� ��
����� ��
� ��
��� 
� ��� ���� �� ����� ��
�

��� ��� �� ��	� ��� �
� �
#�� �� �
����
�� ��� �
������ ������� �� ��	 
���
�� ���� �������

�� 
 ������ �
������ ������� 
� ��	 
�� 
 ����� ��
��������� ��
� 
����$��
���� ���� � ���

�� �
#�� ���� ��������
���� �� ��� ������
������� ����� ��� �
$���� ����������� �� ���� �+


�� ��� ������� �� ���� �4+ ������� ���� �� ��� %& ��
������

'��� �
���� ��
��������� ������� ��� 
������
��� 
�� ��� %& ��
������ 
�� �����
��� ��

(�� ��	�)� ��� 
��"� ��������� ����� ��� ���
� ��
��������� ����� ���� ��� ����� �
��� 
�

����� ��� ������
� "���
��� �
"� ��� ������ ��
��������� ������� ��� 
������
���� ���
���

��� ������ ���������� 
�� ��������� ��� ����� �� ������*�� ��� ������ "���
���� +� ����� �
���

�������� ���� �
� �� �������� �� �����"� ��� ����� ��� ����� ��
� ��������� ����� �
� ���

����� ���
��� �� ���� ������
�����

+� �����
�� ��
��������� ������� ��� 
������
��� �����
��� ���� ������ ��
� �������� ���� ���

�$������� �� 3343 #�,� +� ���� �
��� ��
��������� �� ������ ����
��� ���
��� ��� ���*�� ���� ��

��� ��
� �������� �� ��� �& ��
����� �
� ��� �����
��

��� ��
��������� ������� ��� %& ��
������ 
 �����
� ���
"���� �
� �� ����� +� �� ���� ���

��� �������� ��������� 
�� ���� �������� ���
����� ���� �$�������� ��� ��� (��� ���� ��������

��������� 
� 
 ��
� ������ �� -
./ #�,� %��� ��� 0�
������� �
� ���� ������*�� ��� ��� (���

��
��� ��
�� �� ����
#�� ��
���� �� ������ ��� ������ ��
��� ��
����

).
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� ������ ��� 	��
 ������ �� 
�� �� 	��
���� ����� 	� �
��� ���� 
��� ���	�� �� 
�� 	��
� ��

����� 
� �����
���
� 
���� 
�� �� 
����
 ��� ��������� ���
 �� 
� ���� ����� 
�� 
��
����

���
��� ��� �
 3.3���� 
�� 
����
 
�������� �
 3 ����
2 ��� 
�� 	��
 ������
 ��  !� �


"# ��� �$��
 ���
 
�� %��
 ���� ���	�� ������ �
�
��� ���& �������	�� ������
� �� 	���� 0.04 ��

����� 	� �	������� �$��
 ���
 !5+� ����� ���
��	�
�� 0.18 ���

����� �����	� 
�� ��
�����	��

'���� ��	����� (���( ��� (���) ������� ���& �� 
�� ����
���� �� ��*����
 ������ �
�
�� ���

��	���� (���# �� 
�� 
����
������ �� ��� ������ �
�
��� �� �+$���
��
����
 ������� �� ��
���� ���

	��
 �� � ����� �����&� ����� ��� 	� �������
�� ��
� �,� (�-�-�

.�� 	��
 ������ �
�
� �� ��
��
���� 	& � ��
	���
��� �� 
�� ������ �
�
� ���
��	�
��� ��� 
��


����
������� '���� 
�� ������ ����
��� 
���
 	� ���� �
 
�� �,����	���
 
����
 
���������


�� 
����
������ ������& ��� �������� �
 
��� $���
� � ����� ������ �
�
� �
 ������ 
��
����

���
���� ����� 
�� ����
��� �� �
 � 
�+�
�
 �
 ����� 
����
 �����
&� 
���
 	� 
��� �������	��


����

/� 
�� ��
� ������	�� �	��� ��� ������
��� 
� ��
��
���� ����� ������ �
�
� �� ���
�� 
�� 	��


��� �� �+$���
��
 �
 ������� ��	���
��& �������� 	�
���� � ��� -����� �
 �� 
� 	� ��
��� 
��


�� �����& ����	��
��� �� 
�� ��������
�� ��� ������	�� ��� 
�������� 
�� 
��
���� ���
���� ���

���� ������ �
�
� ��
� 
�� ��
� �����
��� 	��
 �����& 
���
 �����
� �����
�&� ����
������&� �


��� ��
 ������ ���
��� 
�� ��
 
��
���� ���
��� �� 
�� ����0	��� 	& 
�� 1�� ����� 	� 
���
���

	�
� ��*�� 	& ������ -�)2�  �� 
�� �������
�� 	��
 �������� 
�� ��

�� ��� �����

.�� �����
� ��� ����� �� 
�	� (���-� �� ����� 
� ������� ���� $��
���� ������
� ��  !( ��� ���


� 
����
 �������� 
�� 2+ ������ �
�
� ���
� 
� 	� �������	��� ����� ������& ��2 �� 
�� ����

���
 ��
� 
�� ��������
�� �����  !(� 3��& �
 
�� ������
 �����& 3+ ��
$�����
� 
�� 2+ �
�
��

����� ��
��
 )�2 ��� ��
��
�� 	����� 
�� 
����
�

!���������� 
�� 
��
���� ���
��� �
�	���
& 4��� ��	���� (�-�"5� ����� ���
���� 
���
 	� 	�

�� ���

����
��� ��
� 
�� 
����
� 	������ �� 
�� �
����� �����& �$����� ����� �� �������	�� ��� ����
���

��
� 
�� ��$�� 	�
 ��� �� ��6����� ���� �������� �� 
�� 
����
�

Ebeam IFC4,q/IFC2

[keV] -7 "7 �7

���( 0.246± 0.010 0.308± 0.013 0
(8)� 0.269± 0.011 0.303± 0.013 0.138± 0.011
##�� 0.221± 0.009 0.35± 0.06 0.173± 0.008
9()) 0.268± 0.011 0.323± 0.014 0.313± 0.018
88�� 0 0.295± 0.012 0.470± 0.020

.�	�� (���-: !�
$������ �� $��
���� ������
 �� ��*����
 ������ �
�
�� ��� ������� 	��
 ���������
;���� ��
���� ��� ���
 
�� �
��$$�� $������� 
������
��
�� ����� ��
	��� �� ���&
���� 
������� ��
�� ���
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����� �����
��� ������2�

��	 �� ���

��������
��������
��������
	�	�	���
	�������

������ ��	�
� ��
��������� ������� ��� 
������
��� ������ 
�� ��� �� ��
����� �������� �����

�� �������� �� ����� ��� ���� ������
������ �
 � ���� 
������! ��
� ��� ��
�
������ ����� ��
��� ��� ��
� ��
��� �� ��� ��
� 
� �"� ���#
��� �� �"	� $��
��%� ��� ���� ���
����

&������ �#���� �� �����
�� #
������ ��
� ������� ��� 
 ��'�� �
���
���� ������ �� �� ��� 12"−2 �

��� ��� ������ #��'���� 
 ����� �� 
 �
�� �� ��� 12"− ������� ��� ���� ��� ���� ���� 	�(�� $���� ��

)��� �#��� �# �� ��� ����##��! 
 �����
� ��
��� ��
�� ������������ 
� ��� �%�� �� ��� 
������
��� ��

�� �� �%#������ *��
��� �� ��� ��)�� ������� ���� ���� ��� 
������
���! ������ �� ��� ������
�

#������
� ��
����+�� )��� �� �������� ��)�'��! ������ ������
� '���
�� )��� �� ������
��� $����!

����� ����� �� 
� 
�'
��
�� �� ����� ���� ��� �� ����� �� ��� ������
� '���
�� ��
������! �����

�� ����� �� �� ��#
���� ���� �� ��� ��
� ������� ��
� �� ������ '���
�� ���� ,�� ��-�	��

��������
����! ���� ����� ��� �� ������ �� ��� ���#� �� ���� �������

.� ����� �� �����
�� �'��
�� ������� ��� ��
��������� ������� ��� �� ��
����� ����� �� ��

��#��'��� /������� ��������� ��� ���� #������ )��� 
���
�� ��������� �
����� �� ������� ��0�0�

12
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12
� (α,γ)16� �
��
��� �
 �
��
��
��
�

12� (α,γ)16� �� ��� �� 	
� ��� 
���	���� 	� �� �����
�� �	 	
� �����������
 ����
�	�
�� ��
�	

	��	� ��
� ���� �� ����
�� ������	��� ��	
 � ��
������ ���� �� � 
������� ������	�� �����

	�
��	� �
� ����� 	�
��	 ���� �� 
������� �� � 4 � ����!�	 	�
��	 ��� �� �"	����� ��� 	�
��	

��	�
� #�	
 	
� 
��
�
 	�
��	 �����	� �� 	
�� ��	��$ �����
����	� ���� 	� � ���	
���������

���
�� �� %�&'�( �
� �� �
������� ���������

�
�� �
��	�
 ���� �
����	 '��	����
�� ������	���� �� 	
� ��	��	�
� ��� 	�
��	 �
����
� ����

��
 	
� �"��
����	� )�	�
 	
�	$ � *
�	 	��	 �����
����	 ���� �� ����
���� �� ��	���� �
� ���	

���	��� ���� 
���
	 �� 	
� ��	���+�	��� �� 	
� ��	�� ��
 � ������ �����
����	�

��� ����� 	
��� 
����
����


�
�
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� ���	���� 
������ �
� � ������	��������� �����	
���� ����� �� 	
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� ���
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��� 	
� �������� �� ���� �� 	
� �������� �	��� �� ��

�"��
����	� ��
 	
� 
��
����
�� 
����� 	
� ���������� 27)� (p,γ) 
���	��� �� ��	�� ���� 	�

��	�
���� 	
� �,������ �� 
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0�	* $���� 0�� '���� ���$ 
� )��(�* ������� ��� �
��
���# �� ������� ����
��#� ������� ��

���' ��'� ����������
� ��� ����) ����� 
�� �� ���
��� ����
� ��� �,)���'�
�� 4����* 0�� ��

������ �� ���� ��� �	 ��
��������
� �
� ���� ��� ���
��&�����
 �� ���(����
� ��
���

5��
 ��� ��'������
 �� ��
 $��� ���� ����) �
� � ��''� ������ ��
��
� ��� 5 · 106 ��''��

$��� �
 �
���# �� 2�67� 0�1* $���� )����
� ���' ��� �� ����
�
�� �� ECMS = 2.680�1 �� ���
12�+α,γ-16� $���� ��"�* ��� �������� �8���
�# �� ε = (5.84± 0.11) · 10−4 ��� ��#���� 9 �
 ���

��
��� �� ��� 4�)��)�� �������� ��#����� � �
� � ��� �������# ���"� �
� ����$ ��#���� 9 �
�

��������� ��"� � ��')������ 3�))��� ����� �� 	

 �� ��
 (�1� ���� �� ����� ��� �
 �8���
�# ��

����
� 2 ·10−4* �� ��� ����� �8���
�# $���� �� (9.87±0.14) ·10−4 )��� �
 ������( ������* ����
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������ ��	�		
 ����
���� ������� ������� ��� 106 ������� ������ �� ������ ���� ��� ��� ���
�������  !	 ���  !�� "#��������
 ����
�� ������������ �� � ���� $� ����������%
&���
�� �#��� ��� �����
 ������ ��� ���
������� ��� �#� �������

'�� ��� ��
��
���� �� �#� ����
������ "#� ��#�� ������
� ���
� �� ���� �� (��� �� �#�� �����%

������� ��� �� �#� 
���� &���
�� �#��� �� �#�� �
��� �������� '��# ��) �� �) ��� ��� ������
� *

��� ! ��� ��) �� +�) ��� ��� $ ��� &% �#�� ����
� �(��
��� *���#�� ������ '��
� ��% ��

������� �#� ����
� ������� �� �

 ������
� ��� �#� &���
�� �#��� ��� �#�� ��
��
��� �#� �������

�������% 
��� �� '�� ���� �� ,��-.	�/ '��# �#� &*01� ������

"#� ������
� 2
����� ���
� �� ��(�� ����#�� �'��% �#� !34 (��� �����

�� ������ �� ���

�#�� �#� 2����������������� ������� �������� ����� 5�'�(��% �
����� �� 8 �� ��������%

�������� �� ��6 �� ������% �#� �7������ '��# ������� �� ��������
� '��# (10.68±0.15) ·10−4%
'#�
� � ���������� �� �#� &���
�� �#��� '��
� ���

 �� ����������

*� � ����������% �#� 8��� ���� ����� '��# �#� 9��#���� ������ �#����� ��� �#� 2�������

���������� "���
� 2
����� �� 	��� �� �������� �� ��� :��� ��;� �������< #�� �� �7������ ��

(4.77± 0.09) · 10−4 ��������� �� �#� ����
������

��� ����� �	�� 
	����	
	
�� �� �	��	
�	��	�

"#� 8��� ���� �� ������� �#� �������� �� ��
�����

�� '�� ��������� �� ��(���� ����������

'��# � ��
�� ������� "#� ��� �� �#� ���� '�� �� ���#�� �;�������� �� ��������� �#� ����
������

�������� ��� �� �;������ ������ �� ���� ��� ������ � 8��� �����
 �� �#� �������� ��� ������
�

���������� ���������� ��� �#�� ������% �'� ���������� '��� ����� ��� ������ �#� �;��������
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� ����� �� ��	�
�
�� �� ECMS = 2.35
�� �
� ��� �� ��	�
�
�� �� 2.68
�� ���� ��� �����	�

�������� ��� � ����
� 	���� ���
	����
 �
 ��� �����
���� �����
�

����� ��� ��	�
���
��� ����	

��� ������
���� ������
� ��	 ������� ��	������ �
 ������ �
 	��� ���� ���	 ���� �	 �������� ��

��� ������ �������� ��� ���  �	� ��	� �� ��
	�	��� �� � ���� ���� ���� � ������ ���� �� 1.7 ��

�����	! ���� 	��"�� �	 	���
���� �������
 	�����		��
 #���$ �	 ����� ��� ���� ���� ��	 
��

 ���� ���� ��%��� 
������
 ����
� ��� �&������
��

'	�����! � ���������� ����� �� �
	������ �
 ���
� �� ��� ������ ����! ����"��! 	�
�� �� ��� ���
�

�� ��� �&������
� ���� ���� ����	 �
� ��	����
�
� ���� 
�� ����! �	 ��	������ �
 ��� ���"���	

�������! �� ��	 ������� �� �� ������� �
� �
 ����� �� ��&���(� �����
� �
 ��� ������� )��

�� ��	����
��� ���
��	 �� ��� 	����! ��� ������ ���� ��	 ��� 	���� �
� ��� � ��� �� 	�"����

��
�������	 �� ��� ������ ��	���� ���	 ��	����� �
 �
�������� �����
� �
��������
! 	�
�� 
�

�������
 	�����		��
 ��	 ���	�
� �
� ��� ���� ����� �� ���� �� ��� ��� ������ ������ �
	����

�� ��� ������ ��	���� ��� ����� ����� �� "��� �� �� �&������
��� ����! ���� ��� ������ �����
�

��	 ������ ���� � "������ �
 ��� ��� �� *++� ���
 ��� �����
� �
 �,��

��� ������ ������� �
	������! ��	 � -�	����� ����! ���� ��	 ��	��
�� ��� �
����� �&������
��

��� ������ ��	 �
	����� ���� ��� �
� �� ��� ������
� �����
������� �� ��� ����� �����������!

�� ��	 ����� ������ ���� ��� ���.� /��� "����� �
 ��� ����� �� 10−6���� ��	 �
	���� �� �

����� ����! ����� ��	 ��	����
�� �� ��� ���� ����� ��� ���� ���� ��	��� ��	 
��  ���� ����

��%��� 
������
 ����
� ���	 ���	�����
� �������
�

��� ������ ������� �	 	���
 �
  �� 0����! ����� � ����� �� ��� �������� 	���� ��
 �� 	��
 �


 �� 0�����

����� ��
����

��� ������	 ���� �������� �� ��� 1�
 2��� ,�
��� �� ��� /�������(�3�
���� )��	��
�

4�		�
���� �� �����
��
� �������� �
�� ��
����� ���.�
�	� ��� ��
����� �����	 ���� � ���

������ �� �5�� �
� 0.2�� ����.
�		 ���� ����
�� ����� �� �����
�����
 ���� �
 �����	�
��

���� �
� �����
���

��� ��� �����
�����
! �� ��	 ����� ��� � 6�� ��� �� �� ������ ���� � ����.
�		 �� �++ 
��

2�����
� �
 ��� �&�����
�� �� �������7 �����
��� ������	 ��� �
����� �&������
� �� ���8�


���.�� #�')$! �41
 ��	 �������� �� 	������� ��� �����
�����
 �����		 �
� �������
� ���

�����
�����
 �
�����	 �	 ���� �	 ��� 6��
��	 �� ����� � 
���
�� ������ ����.
�		 �� 5.55 ·
1017 ��9��2! ����� �����	��
�	 �� �
� ������ ���� ��� �"��� ��
����� ���� �
 ��� �++ 
�

����. ������

��� ��	� ��	��� ��	 �����"�� ���� � 6��
�� �� 6.9 · 1017 ��−2 �� �
 �����
�����
 �
���� ��

�0 .��! �������� �� 7 .�� ���� 3.8 · 1016 ��−2� ��� ��	����
� ������ ��� �� �	 ���������� ��

:�
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��� 2

���� 
 ����!���� �� "## � �

���� �� ����� �� ��� ��	�
� $����� ��� � ��
��
���� 
� ��� %# !& � ��
���� �� ��� '($�

��� )�
 *�����+ ��� �
����� ���� ������ ���� ��,��� �������� 
�� ��� ����� �
���� 
��
 �
�

� ��
�����

�� ���
�+ ����� �
����� ���� ���� ������ ��� ���
��
���� 
� ������!�����+ �
���� �-"+ �-
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���� ���� ��� 
/�0� ������/�� ���������� �
���� �-" �
� �0
���
���

���� 
� 
�������
� �
��
�� �
��� �� 1	 � ����� �� � ��
��
���� 
� ���  
������� �������

�
������ 
� ���  
������ ���
�� ��� �� '($��

.���� ���
��
����+ ��� �
����� ���� 
�
����� /� 2�
���� ������ $�������� .�
����� 32�$.4 
�

��� '($� 5�& �
�������� ��� ����+ ���� ���� ���
��
��� ���� 
 %
��& *� 7+ /�
 
� 
�


���� �� 6#� �� 
� 
��
 �� 2 × 2  2� '�
0� ��� ���� ���� �������� 
� 
 ��
������� 
���� ��


#� �� 
 )�
�� �����
���� *�
 /��� ��� ����� 
�� ��������+ 
 ����� ��
�� �������� ���������

/� 
 	� � !
���� ���� �
� ��
��� 
� %#� ���� ������� �� ��� /�
 ����� �� ���
�+ �0� ������

���� 
�
������ ��� �� ��� /�
 ���� 
�� ��� �7 ��� /�
 ���� ��� �
����� �-" 
�� �-�+

��������0��� 
�� ��� �� �-%+ ��
� �
� ��� ���
��
���� �-
 �
� ��� 
�
��8���

20
��
���� ��� ������ �
���� �-%+ �� /��� �� 
��
���� ��
� ������� �#9 �� ��� 
� �� ���

����� ������� �� ������� �� ��� �
����� ������� ���+ � �������� �� 1.18 · 1017 
��� 2 �:����+

 ����� �� ��� �� ��� �
���� 
�� �
�/�� ���� 0.75 · 1017 
��� 2 ���� ������ '������� ��

������/���� ���������� ��� �
���� ���� 0.96 · 1017 
��� 2�

��� ���
��
��� �
����� ���� ����� �������� 
�� �:���� ������� /��� �� 
�� �7;����� '���0��+

�
�/�� /����;�� �� ��� �� 
�� ���� �
����� �� 
��
����+ ���� 
  
:� � �� 5.19 · 1017 
��� 2
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��� �% ��&! ���  �'"��� �� &��#�  �'����

��! ����  �" ���  ��� ��� ���"����  �"#�&�

��! �% ���&���  �$&��� ��!"����  �#��#�

��' ��'$���  �"$���  �#!�"� ���&�� �

��(�� !����) *��+��� �, �-� .*/� �
��
��� ,�� �0� ����	����	 ������� ����1 ��!� �
	 �
�

�� ����	����	 ���'�� 2��� ��,��� �� �-� (��� ����1 0-��� �% 	�
���� � �������

�+���	� �-� (��� �����

�, ���(�
 �
 �-� (��� ���� �, ���� �-� -���+� ��
��
� �� ��0���	 �������	 �� ��' (
 ��3

�
	 �!3 �+���	� �-� (��� ���� �
	 (
 ! 3 �
	 �$3 �
 �-� (��� ���� ,�� ������� ��� �
	

��! ��������4��
� � 	���- ���5�� �, �-� (��� ���� �, ��! �� �-�0
 �
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 ��(� !�����
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	����
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��
 �
	 -���+� �� ��0���	 �
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 (�

�6����
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 �-� (��� -����
� �-� ������1 0-��- ��+��� �+������
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(� ��	+��	 �
 ,+�+�� �6������
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 � (���	�� (��� �� �
 �����4�	 �����
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�
 �-� ���(�
 ��
��
� �
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�-� ����	�����
1 ���������
 �
 ��� �, �-� �������� ����1 ����	+�� ���(�-
	����� �
 �-� 4��++�

(+��	8+� �
 �-� ������ �+�,��� �2+�9#"�1 0-��- ��+�	 (� ��	+��	 (
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� �-� 4��++� (
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� �-� ���	 ���� 0��- �:2� �		����
���
1 �-����
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 (��� �
 �-� ������1 0���
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� �
 �-� ������ �-��(��1 �� �� �����
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#
� ��� ��� �	 $��������� %� ����� �� 
$���"� ��� ������� �������� �&$���$�' ���� 
 ( $� ��
�

$�����
��� #
� ���� 
� ��� ����� 
�� ��� ����$���� #��� ���������� 
� $���� �� ��� ��
����� 
�

���������

��� ������ $
����
���� �� ��� ����$���� #
� ��������� ������ ��� �)��� �
�
 
�
����� �� ������

��� �
$*������ ����� �� 40+ 
�� 208�� #��� 1460.82 *�, 
�� 2614.53 *�,' �����$��"���� -�$
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/�#��� ��� ���� ����� ���� �!����� �+�# "��# ��.�� ��� ������#���# 0�� #������ �����������.

0������ ��1�# !#������	 2�#���#��#�� ��� �-��#��� ��� ���#�� !#�+���� �����. ��##���� �" 
�

�� %� � �" 12� �� � ��0 ��##��� ����! "�# �#���� 
( � ����� ��� �!����# ��#��� ��� �������	

/�#��� ���� ���� ���. ����# ���!������� �� ��� ���� �!���� ��� �� �� ����#������ !�+���

��� 0�. �� ����!�#+���� �!�#����� �� �����	  ���� , �� 
� !� �" ��� �������#. �����#��

��!!#����� ��#��� ��##��� #������ ��� ��#��� ��#��� ��� 0���� ����� �� ��� �� ���� �� 3�	 ,	
	4	

��� �������#� ���� �" ��� "������. 0�� 5���� �������"��	

�+�� ������ ���� �!���� 0�#� ��� �!������ ���� ��##��� ����� �� ����#�� ���� ��� ��#���

"�# ��� ��#����� �" ��� �-!�#������ #�������� �� +������ ���� �!��� �� ��� ��#��� ��� �������

�����#���� !����	  ���� #�� �� � �.�#���� �������� ��#��� #������� �� � ����# �������#� �"

��� 12� (p,γ) #�������	 ��� �!���#�� "�# ���� #�� �� ���0� �� 3�	 ,	
	6 "�# 7�
	 ��� !��� �� ��


%,6 ���� ��� 8 +���� �" ��� #������� �� �
(%	, ��� ��� ��� ���� ���#�. �� ��� ����#���"�����

�.���� 0�� ECMS = 451.5 ���	 &���� ���� �� ����� �� ��� �#��� #�������� �� ECMS = 421 ���� ���

!��� ���!� ����� �� ��������� �. ��� ���!� �" ��� #��������	 &����. 0��� ���� ��"�#������

�� ����� �� �� ��#� �� ����#����. ����#���� � ��##������ "����# "�# ��� ������#���# +������	

������� ����� ��� ��-���� �" ��� ����#+�� !��� �� �+�� ����0 Eγ,R = 2364.5 ���� ��� ���#�.

� γ "#�� ��� #�������� 0���� ��+�� �� ��� �� ��"��. �������� ���� ��� #��� ������#���# +������

�� ��0�# ���� ��� ��� ���	

 ����������.� ��� ��!��������� �" ������ ���� ��� ��#���� 0�#��� ��� ��� 0���# ������ ��#����

0�������� ��� �##��������	 ��#��� 29� ���� ≈ 50% �" ��� ������ ������� �"��# ��� ��� � ���"

��.� �" �##�������� 0��� 2.2� '��� �������#. �����#�� ��!!#�����) 12�2+ ��� 29, %�: �"��#

�0� ��.� 0��� 6.3� '��� �������#. �����#�� ��!!#�����) 12�3+	
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